
Ú
lohy

ke
cvičen

í

Ú
loha

1:
J
a
k
o
u
n
ejv
y
šší
m
o
cn
in
o
u
5
je
d
ěliteln

é
5
0
!
?
U
rčete

o
b
ecn
ý
v
zo
rec
p
ro
p
rv
o
číslo

p
a

fa
k
to
riá
l
čísla

n
.

Ú
loha

2:
U
k
a
žte,
že
(k
!)
n
d
ělí
(k
n
)!.

Ú
loha

3:
D
o
k
a
žte
v
ý
p
o
čtem

i
k
o
m
b
in
a
to
rick
o
u
ú
v
a
h
o
u
:

a
)

(

n
−
1

k
−
1

)

+

(

n
−
1

k

)

=

(

nk

)

b
)

n
∑k
=
0

(

nk

)

=
2
n

c)

n
∑k
=
0 (−
1
)
k

(

nk

)

=
0

d
)

(

nm

)
(

mr

)

=

(

nr

)
(

n
−
r

m
−
r

)

e)

r
∑k
=
0

(

nk

)
(

m

r
−
k

)

=

(

m
+
n

r

)

f)

n
∑k
=
r

(

kr

)

=

(

n
+
1

r
+
1

)

Ú
loha

4:
S
ečtěte:

a
)

n
∑k
=
0

k

(

nk

)

b
)

n
∑k
=
0

k
2

(

nk

)

c)
2
n

∑k
=
0 (−
1
)
k

(

4
n

2
k

)

d
)

2
n
−
1

∑k
=
0

(−
1
)
k

(

4
n

2
k
+
1

)

Ú
loha

5:
U
rčete

p
o
čet

a
)
u
sp
o
řá
d
a
n
ý
ch
d
v
o
jic
(A

,B
),
k
d
e
A

⊆
B

⊆
{
1
,2
,...,n

}
.

b
)
u
sp
o
řá
d
a
n
ý
ch
čtv
eřic
(A

,B
,C

,D
),
k
d
e
A

⊆
B

⊆
D

⊆
{
1
,2
,...,n

}
a
ta
k
é
A

⊆
C

⊆
D
.

Ú
loha

6:
K
o
lik
a
zp
ů
so
b
y
lze
ro
zestav

it
čern
éh
o
a
b
íléh
o
k
rá
le
n
a
ša
ch
ov
n
ici
ta
k
,
a
b
y
se
n
av
zá
jem

n
eo
h
ro
žov
a
li?
(T
.j.
n
está
li
n
a
so
u
sed
n
ích
p
o
líčk
á
ch
.)

Ú
loha

7:
Z
n
p
řed
m
ětů
v
y
b
írá
m
e
k
.
D
o
n
á
sled
u
jící
ta
b
u
lk
y
d
o
p
lň
te
p
o
čty
m
o
žn
ý
ch
v
ý
b
ěrů
:

V
ý
b
ěry

Z
á
leží
n
a
p
o
řa
d
í
(v
a
ria
ce)

N
ezá
leží
n
a
p
o
řa
d
í
(k
o
m
b
in
a
ce)

b
ez
o
p
a
k
ov
á
n
í

s
o
p
a
k
ov
á
n
ím

Ú
loha

8:
R
o
zm
ísťu
jem
e
k
k
u
liček

d
o
n
p
řih
rá
d
ek
.
D
o
n
á
sled
u
jící
ta
b
u
lk
y
d
o
p
lň
te
p
o
čty
m
o
žn
ý
ch

v
ý
b
ěrů
:

K
u
ličk
y

V
k
a
žd
é
p
řih
rá
d
ce
je

jso
u

n
ejv
ý
še
jed
n
a
lib
ov
o
ln
ě
m
n
o
h
o
a
lesp
o
ň
jed
n
a

rů
zn
o
b
a
rev
n
é

stejn
o
b
a
rev
n
é

Ú
loha

9:
K
o
lik
a
zp
ů
so
b
y
lze
ro
zestav

it
p
o
stav
ičk
y
m
v
o
d
n
ík
ů
a
n
ča
ro
d
ějn
ic
ta
k
,
že
žá
d
n
í
d
v
a

v
o
d
n
íci
n
esto
jí
v
ed
le
seb
e,
k
d
y
ž
je
n
av
íc
d
á
n
o
:

a
)
m
=
5
,n
=
7
,
p
o
stav
y
stav
ím
e
d
o
řa
d
y,
v
o
d
n
íci
jso
u
n
av
zá
jem
n
ero
zezn
a
teln
í,
a
stejn

ě
ta
k
i

ča
ro
d
ějn
ice.

b
)
m
=
5
,n
=
7
,
p
o
stav
y
stav
ím
e
d
o
řa
d
y,
a
le
v
šech
n
y
jso
u
n
av
zá
jem
ro
zezn
a
teln
é.

c)
m
=
5
,n
=
7
,
v
o
d
n
íci,
resp
.
ča
ro
d
ějn
ice
jso
u
n
av
zá
jem
n
ero
zezn
a
teln
í,
a
le
stav
ím
e
je
d
o
k
ru
h
u
.

d
)
m
=
5
,n
=
1
0
,
v
o
d
n
íci,
resp
.
ča
ro
d
ějn
ice
jso
u
n
av
zá
jem
n
ero
zezn
a
teln
í,
a
le
stav
ím
e
je
d
o
k
ru
h
u
.

e)
m
=
6
,n
=
1
2
,
v
o
d
n
íci,
resp
.
ča
ro
d
ějn
ice
jso
u
n
av
zá
jem
n
ero
zezn
a
teln
í,
a
le
stav
ím
e
je
d
o
k
ru
h
u
.

Ú
loha

10:
B
a
rev
n
á
in
k
o
u
stov
á
tisk
á
rn
a
d
o
k
á
že
u
m
ístit

a
ž
8
k
a
p
ek
n
a
jed
en
b
o
d
.
K
a
p
k
a
m
ů
že

m
ít
a
zu
rov
o
u
(C
-C
y
a
n
),
fi
a
lov
o
u
(M
-M
a
g
en
ta
),
žlu
to
u
(Y
-Y
ellow

)
n
eb
o
čern
o
u
(K
-b
la
cK
)
b
a
rv
u
.

K
o
lik
rů
zn
ý
ch
b
a
rev
n
ý
ch
o
d
stín
ů
lze
d
o
sá
h
n
o
u
t
v
jed
n
o
m
b
o
d
ě,
p
řed
p
o
k
lá
d
a
m
e-li,
že
sm
íšen
í
tří

rů
zn
o
b
a
rev
n
ý
ch
(C
M
Y
)
k
a
p
ek
m
á
stejn

ý
efek
t,
ja
k
o
d
v
ě
čern
é?
(N
a
p
ř.
o
d
stín

3
C
+
2
Y
+
M
+
K
je

stejn
ý
ja
k
o
2
C
+
Y
+
3
K
.)

Ú
loha

11:
K
o
lik
slov
lze
sestav

it
z
p
ísm
en
slov
a
M
IS
S
IS
S
IP
P
I?

Ú
loha

12:
K
o
lik
ex
istu
je
rů
zn
ý
ch
ro
zd
ělen
í
p
rav
id
eln
éh
o
n
-ú
h
eln
ík
u
n
a
v
rch
o
lech
1
,...,n

n
a
tro
j-

ú
h
eln
ík
y,
ta
k
že
řezy

v
ed
o
u
p
o
d
él
tětiv

,
k
teré

se
v
zá
jem
n
ě
n
ek
říží
a
n
av
íc
k
a
žd
ý
tro
jú
h
eln
ík
m
á

a
lesp
o
ň
jed
n
u
stra
n
u
sp
o
lečn
o
u
s
n
-ú
h
eln
ík
em
?.

N
a
p
ř.
p
ětiú
h
eln
ík
lze
ro
zd
ělit
n
a
tři
tro
jú
h
len
ík
y
(1
,2
,3
),
(1
,3
,5
)
a
(3
,4
,5
).

(R
o
zd
ělen
í
n
a
tro
jú
h
eln
ík
y
se
n
a
zý
v
á
tria
n
g
u
la
ce,
i
k
d
y
ž
o
b
ecn
ě
n
en
í
p
o
ža
d
ov
á
n
o
,
a
b
y
k
a
žd
ý

tro
jú
h
eln
ík
m
ěl
stra
n
u
sp
o
lečn
o
u
s
p
ů
v
o
d
n
ím
m
n
o
h
o
ú
h
eln
ík
em
.)

Ú
loha

13:
K
o
lik
je
v
k
o
n
v
ex
n
ím

n
-ú
h
eln
ík
u
d
v
o
jic
tětiv

,
jež
se
n
av
zá
jem

p
ro
tín
a
jí
u
v
n
itř
n
-

ú
h
eln
ík
u
,
ted
y
n
ik
o
li
v
k
ra
jn
ích
b
o
d
ech
?


